Lesson 9 – To apply length knowledge
Do 1













a) Who has the longest paper?
b) How much longer is Ada’s paper than Rim’s?
c) How much shorter is Sadia’s paper than Ada’s?
d) Ada and Sadia put their paper together. How long is it now?
e) Ada cuts 2cm off his paper. What length is his paper now?
f) Rim cuts 2 more pieces of paper the same length. What is her total length of all 3 pieces?
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g) Who has the longest paper?
h) How much longer is Ada’s paper than Rim’s?
i) How much shorter is Sadia’s paper than Ada’s?
j) Ada and Sadia put their paper together. How long is it now?
k) Ada cuts 2cm off his paper. What length is his paper now?
l) Rim cuts 2 more pieces of paper the same length. What is her total length of all 3 pieces?
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Think 1
True or false
Kim is 87cm tall. Jack is 78cm tall.
Kim is taller than Ben. Jack is shorter than Ben.
Ben could be 72cm tall.






Think 2
Prove it
The Year 2 classroom is 13m long.
The Year 3 classroom is 6m longer than the Year 2 classroom.
The Year 3 classroom is 19m long.








Explain
Helen is playing with her toy cars. The car is 14cm long and the fire engine is double the length of the car. Helen says the fire engine is more than 30cm long.
Is she correct? Explain why.
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Half of the envelope is shown.

What s the length of the whole envelops?

cm
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Rim, Sadia and Ada measure strips of paper.
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Mo measures his pencil at the start of
Year 2, halfway through Year 2 and at
the end of Year 2
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@) Which picture (A, B or C) shows the pencil
at the start of Year 2?

How do you know?

b) What is the difference between the longest
and shortest length?




